

Foam Hinged Lid Containers

Featuring the **PERFORMER** perforated hinge



DART

Hinged Containers with a Removable Lid



The **PERFORMER** is a patented perforated hinge that allows the container's lid to be removed.

The result is a less cluttered dining experience and an additional plate for meal sharing.

- 1. Grab the lid
 - 2. Hold the base
 - 3. Gently pull apart

The Performer's Unrivaled Convenience





In the car

In a crunch, when you are rushed for time, the Performer is the answer. No more cumbersome lid to deal with. Simply tear the lid off and enjoy!

At the office

Can't get away for lunch? The Performer will free up needed space so you can be more productive and still enjoy your meal.



Sharing

At home or in social settings, the versatility of the Performer allows you to "tear and share." Use the lid as an extra plate to make meal sharing convenient anywhere.

Superior Insulation

All Dart foam hinged lid containers have high insulation properties to keep hot foods hot and cold foods cold. Maintaining proper temperature inside the container keeps food at the right serving temperature, preserving product quality.

Vented to Preserve Food Quality Longer

Vent holes on sidewalls of the lid preserve food quality (i.e. crispiness) by allowing steam to escape. The vented containers come with the Performer perforated hinge.



Stacking

The recessed lid and platform base increase the stability of multiple stacked containers, allowing for stable and convenient transport.

Secure stacking also allows for maximum use of space during order preparation.



Secure Closure



These containers feature either a double lock closure or a "knuckle" locking tab intended to prevent accidental openings.

When closed, a perimeter seal keeps food secure, reducing leaks.

Tabs on base ensure containers stay closed when picked up by the lid.

Present Your Food With Style

Black Foam Hinged Containers are available in many popular sizes and are ideal for a variety of hot and cold foods.



They provide an upscale packaging alternative to enhance the image of any food application, while still providing the performance benefits of traditional Dart Foam Hinged Containers.



Designed for convenience and versatility











80HT3















90HTPF1V

























DT1

















DT3

| 60HTB1 |
|--------|
|--------|

85HTB1

85HTB3

90HTB1 / 90HTPFB1

90HTB3 / 90HTPFB3

95HTB1 / 95HTPFB1

95HTB3 / 95HTPFB3

| Stock N White | umber Black | Description | Hinge Style | Outside Dimensions | Packing Bag/Case | Case Cube** | Case Weight |
|------------------|----------------|---|----------------|------------------------|---------------------|----------------|----------------|
| 50HT1 | <u> </u> | 5" Medium Sandwich | Non-Perforated | 5 1/8 x 5 3/8 x 2 7/8 | 125/500 | 3.5 | 6.7 |
| 60HT1 | 60HTB1 | 6" Large Sandwich | Non-Perforated | 57/8 x 6 x 3 | 125/500 | 4.2 | 10.1 |
| 72HT1 | | Hot Dog | Non-Perforated | 7 1/8 x 3 3/4 x 2 1/4 | 125/500 | 3.5 | 7.1 |
| 80HT1 | | Small, Single Compartment | Non-Perforated | 8 x 7 ½ x 2 ¼ | 100/200 | 3.5 | 6.4 |
| 80HT3 | | Small, 3 Compartment | Non-Perforated | 8 x 7 1/2 x 2 1/4 | 100/200 | 3.5 | 6.4 |
| 84HT1 | | Small, Shallow, Single Compartment | Non-Perforated | 8 1/2 x 7 1/4 x 1 7/8 | 100/200 | 3.2 | 6.4 |
| 84HT3 | | Small, Shallow, 3 Compartment | Non-Perforated | 8 1/2 x 7 1/4 x 1 7/8 | 100/200 | 3.2 | 6.4 |
| 85HT1 | 85HTB1 | Medium, Single Compartment with Removable Lid | Perforated | 83/8 x 77/8 x 31/4 | 100/200 | 3.3 | 7.1 |
| 85HT3 | 85HTB3 | Medium, 3 Compartment with Removable Lid | Perforated | 83/8 x 77/8 x 31/4 | 100/200 | 3.3 | 7.1 |
| 90HT1 | 90HTB1 | Large, Single Compartment | Non-Perforated | 93/8 x 9 x 3 | 100/200 | 4.1 | 8.6 |
| 90HT3 | 90HTB3 | Large, 3 Compartment | Non-Perforated | 93/8 x 9 x 3 | 100/200 | 4.1 | 8.9 |
| 90HTPF1 | 90HTPFB1 | Large, Single Compartment with Removable Lid | Perforated | 93/8 x 9 x 3 | 100/200 | 4.1 | 8.6 |
| 90HTPF3 | 90HTPFB3 | Large, 3 Compartment with Removable Lid | Perforated | 93/8 x 9 x 3 | 100/200 | 4.1 | 8.9 |
| 90HTPF1V | | Large, Single Compartment with Removable Lid - Vented | Perforated | 93/8 x 9 x 3 | 100/200 | 4.1 | 8.6 |
| 90HTPF3V | | Large, 3 Compartment with Removable Lid - Vented | Perforated | 93/8 x 9 x 3 | 100/200 | 4.1 | 8.9 |
| 95HT1 | 95HTB1 | Large, Single Compartment | Non-Perforated | 91/2 x 91/4 x 3 | 100/200 | 5.2 | 9.4 |
| 95HT3 | 95HTB3 | Large, 3 Compartment | Non-Perforated | 91/2 x 91/4 x 3 | 100/200 | 5.2 | 9.4 |
| 95HTPF1 | 95HTPFB1 | Large, Single Compartment with Removable Lid | Perforated | 91/2 x 91/4 x 3 | 100/200 | 5.2 | 10.1 |
| 95HTPF3 | 95HTPFB3 | Large, 3 Compartment with Removable Lid | Perforated | 91/2 x 91/4 x 3 | 100/200 | 5.2 | 10.1 |
| 99HT1 | | Hoagie/All Purpose with Removable Lid | Perforated | 93/4 x 51/4 x 31/4 | 125/500 | 6.6 | 14.5 |
| 110HT1 | | Extra Large, Single Compartment with Removable Lid | Perforated | 10 1/4 x 9 1/2 x 3 1/2 | 100/200 | 5.1 | 10.7 |
| 110HT3 | | Extra Large, 3 Compartment with Removable Lid | Perforated | 10 1/4 x 9 1/2 x 3 1/2 | 100/200 | 5.1 | 10.7 |
| 201HT1* | | Multi-Purpose, Single Compartment | Non-Perforated | 87/8 x 5 5/8 x 27/8 | 125/250 | 3.5 | 7.4 |
| 205HT1 | | All Purpose, Single Compartment with Removable Lid | Perforated | 9 1/4 x 6 3/8 x 2 7/8 | 100/200 | 3.2 | 6.7 |
| 205HT2 | | All Purpose, 2 Compartment with Removable Lid | Perforated | 9 1/4 x 6 3/8 x 2 7/8 | 100/200 | 3.2 | 7.1 |
| 206HT1 | | All Purpose, Shallow, Single Compartment with Removable Lid | Perforated | 9 1/4 x 6 3/8 x 2 9/16 | 100/200 | 3.8 | 7.3 |
| 206HT1P | | All Purpose, Shallow, Single Compartment | Non-Perforated | 9 1/4 x 6 3/8 x 2 9/16 | 100/200 | 3.8 | 7.3 |
| | | with Embossed Prosperity™ Design | | | | | |
| DT1* | | Single Compartment, Medium, Shallow, Embossed Design | Non-Perforated | 87/16 x 73/4 x 21/2 | 100/200 | 3.3 | 8.3 |
| DT3* | | Three Compartment, Medium, Shallow, Embossed Design | Non-Perforated | 87/16 x 73/4 x 21/2 | 100/200 | 3.5 | 8.3 |

*May not be available in all areas. Check for product availability.

**Case cube may vary by region.

Custom embossing available for qualifying volumes. Contact your Dart representative for details.





DART CONTAINER CORPORATION

The Industry Standard of Excellence

Mason, Michigan 48854 U.S.A. Ph: 800-248-5960 • Fax: 517-676-3883 Email: sales@dart.biz • www.dart.biz